/DVIRB

*UXSD 5RINiDG =)+ $ 00 $2& 7\J
7N 7N
ORGXiGRZ\ERIX ] S ORGXiGRZ\ERIX ] S
IRI QDG]Z 5RVyi $GDP IRI QDG]Z 5RVyi $GDP
=% )+ $"00 =% -)+$"00
- $2&
~ GRFIRIRILD VIUXNIXU GRFIRIRILD VIUXNIXU
< VSRHF]JQ\FK 6RFIRIRJLD VSRHF]Q\FK VRFIRIRJID
8 ZVSyiF]HVQRGFL 2VIDIQIH ZVSyiF]HVQRGFL 2VIDIQIH
= IDICFD  PLO IDICFD  PLO
0)
I
o ™
4
n
6\VIHP RFKURQ\ SUDZQHI
Z 8QL (XIRSHWNHI Z G
UKDE SIRI 8-= _DIV]
$QQD =% )+
$"00 -
2VIDIQH JDICFD  PLQ
7N 7N 7N
z 3U]HGPLRI GR Z\ERUX 3U]HGPLRI GR Z\ERUX 3U]HGPLRI GR Z\ERUX
S NIHUXQNRZ\ JUXSD $ GU NHUIXQNRZ\ JUXSD $ GU Z\G]LDRZ\ ] JDONUHVX
x 66\V] SIHNVDQGHU =% -DF]DQ "DPLDQ =% QDXN KXPDQVINFTQ\FK G
N )+$"00 = )+$"00 = U 2]LCERZVNL ODUXV] ™
3UREHP\ SRGDINRZH (HPHQN SIDZD ( 2)+s$700
3RDNyZ PHG\F]QHJR =
7N 7N 7N
a v . .
o WRNIC]\NRZ\ =)+ 3RVICSRZDQIH 3RVICSRZDQIH
x $"00 = VaGRZRDGPIQWIDF\IQH | [VaGRZRDGPIQIILDF\IQH
T iZ GU =yIFIFND (2D =| | Z Gl = yiFIFND (ZD =%
% :)+$"00 :)+$"00
$2 & -
7N 7N 7N 7N
3U]HGPLRI GR Z\ERUX 6\VIHP RFKURQ\ SUDZQHI %RNIC]\NRZ\ =)+ 2UIDO\ NRQIURIL
Z\G]LDRZ\ ] JONUHVX Z 8QL (XURSHIVNIHI iZ $"00 = ILQDQVRZHI | EXGTHIRZHI
QDXN KXPDQIVINFTQ\FK G 8Villyl RIJDQyZ RFKIRQA L Z THAQJ ~JIXN $QQD
U 3HUHN ODUHN ='( SRPRF\ SIDZQHI Z " HU =0 -)+$700
)+$"00 = \QJ ~JIXN $QQD =% $2&
Z )+$700  $2& 2VIDIQH JDICFD  PLQ
= 2VIDIQH JDICFD  PLQ
a
N 7N
A
w

8Vily! RIIDQYZ RFKURQ\ L
SRPRF\ SIDZQHI Z “HU
\QJ " JLXN $QQD =%
)+$°00 -
I)+$"00 $2&
2VIDIQIH JDICFID  PLQ




*UXSD 5R]NEDG

/DVWRB
2)+$"0O0

$2 & 7\J

3w

6R




